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This Question Paper consists of 8 questions and 8 Printed pages.

63/OS/1

General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. All the questions are to be answered within the allotted time.

4. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

5. Write your Question Paper Code No. 63 / OS / 1, Set -A on the Answer-Book.

6. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)

({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)
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2.

Sl. No.

Set / goQ> A

Code No.
H$moS> Z§.H$m oS> Z§.H$m oS> Z§.H$m oS> Z§.H$m oS> Z§.
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gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe :

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI| &

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go D$na N>nr h¡ & Bg
~mV  H$s Om±M ̂ r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢ &

3. g^r àíZm| Ho$ CÎma {ZYm©[aV Ad{Y Ho$ ̂ rVa hr XoZo h¢ &

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$‘m§H$ {bIZo na narjmWu H$mo A¶mo½¶
R>ham¶m Om¶oJm &

5. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$s H$moS> g§»¶m 63 / OS / 1, Set - A  {bI| &

6. (H$) àíZ-nÌ Ho$db qhXr/A§J«oOr ‘| h¡& {’$a ̂ r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$EH$EH$EH$EH$ ̂ mfm ‘| CÎma Xo gH$Vo h¢ :

A§J«oOr, qhXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$ÝZ‹S>, VobwJw, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur, ‘{Unwar, Ag{‘¶m,
Zonmbr, H$í‘rar, g§ñH¥$V Am¡a qgYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ̂ mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn qhXr Ed§ A§J«oOr Ho$ A{V[a³V {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢ Vmo àíZ H$mo g‘PZo ‘| hmoZo dmbr Ìw{Q>¶m|/Jb{V¶m|
H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

[ Contd......
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DATA ENTRY OPERATIONS
S>mQ>m E§Q´>r Am°naoeÝg

(229)

Time : 2 Hours] [Maximum Marks : 40

g_` : 2 KÊQ>o]  [nyUmªH$ : 40

Note : (i) All questions are compulsory.

(ii) Marks are indicated against each question.

{ZX}e {ZX}e {ZX}e {ZX}e {ZX}e : (i) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢ &

(ii) àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo Xem©E JE h¢ &

[ Contd......

1. Match the following and write your answer in the answer book : [6 × ½ = 3]

A B

(a) Object program (i) Delivering the presentation

(b) Video Card (ii) Requires criteria

(c) SUM IF( ) Function (iii) Language Rules

(d) Syntax (iv) Hardware component

(e) Slide Show View (v) Utility program

(f) Antivirus (vi) Machine language

{ZåZ Omo‹S>o {_bmBE Am¡a CÎma AnZr CÎmanwpñVH$m _| {b{IE …

A B

(a) Am°ãOoŠQ> àmoJ«m_ (i) àoOoÝQ>oeZ {XImZm

(b) dr{S>`mo H$mS>© (ii) eV© H$s Amdí`H$Vm

(c) g_ Bµ\$( ) \§$ŠeZ (iii) ^mfm Ho$ {Z`_

(d) qgQ>¡Šg (iv) hmS>©dò a KQ>H$

(e) ñbmBS> emo ì ỳ (v) ỳ{Q>{bQ>r àmoJ«m_

(f) E§Q>rdm`ag (vi) _erZ ^mfm
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2. Write in your answer book, True/False for the following statements :[6 × ½ = 3]

(a) Laser printer produces very low quality print and these are very slow in
working.

(b) The expanded form of PDF is portable Document format.

(c) Format Autoshape dialog box helps to change colours and background of
a textbox in slides.

(d) Taskbar displays a list of music and songs.

(e) A password can include only 2 characters and one symbol.

(f) All programs displays a list of installed programs which a user an start and
use.

{ZåZ H$WZm| Ho$ {bE AnZr CÎma nwpñVH$m _| ghr/JbV {b{IE …

(a) boOa qàQ>a ~hþV {ZåZ JwUdÎmm H$m _wÐU {ZH$mbVo h¢ Am¡a ò H$m_ H$aZo _| ~hþV Yr_| h¢ &

(b) nr S>r E\$ (PDF) H$m nyU© ñdén h¡ nmoQ>}~b S>m°Š ỳ_|Q> \$m°_}Q> &

(c) ñbmBS>mo _| Q>oŠñQ> ~m°Šg H$m a§J Ed§ n¥ð> ŷ{_ ~XbZo _| \$m°_}Q> Am°Q>moeon S>m`bm°J ~m°Šg _XX H$aVo h¡ &

(d) Q>mñH$~ma _| g§JrV Ed§ JrVm| H$s gyMr àX{e©V hmoVr h¡ &

(e) EH$ nmgdS>© _| Ho$db 2 Aja Am¡a 1 àVrH$ {MÝh hr em{_b hmo gH$Vm h¡ &

(f) Am°b àmoJ«måg (All programs) g^r BÝñQ>m°b {H$E JE àmoJ«m_m| H$s gyMr àX{e©V H$aVm h¡ {OÝh| ỳOa
ñQ>mQ>© Am¡a à`moJ H$a gH$Vm h¡ &

3. Define the following : [4 × 1 = 4]

(a) View file Details

(b) Central Processing Unit

(c) Monitor

(d) Linechart

{ZåZ H$mo n[a^m{fV H$s{OE …

(a) ì ỳ \$mBb {ddaU

(b) g|Q´>b àmogoqgJ ỳ{ZQ/H|$Ðr` àH«$_Z EH$H$

(c) _m°ZrQ>a

(d) n§{ŠV MmQ>©

[ Contd......
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4. Write short notes on the following : [4 × 2 = 8]
(a) Headers and Footers

(b) Computer languages

(c) Spell check feature

(d) Design of a worksheet

{ZåZ na g§{já {Q>ßn{U`m± {b{IE …

(a) erf© Am¡a nmXboI

(b) H$åß ỳQ>a H$s ^mfmE±

(c) ñnob M¡H$ µ\$sMa / dV©Zr Om±M gw{dYm

(d) H$m ©̀nÌH$ H$s ê$n aoIm

5. Differentiate between the following : [2 × 2 = 4]
(a) Main Document and Merge Document

(b) Inserting page break and Deleting page break.

{ZåZ Ho$ ~rM A§Va ñnï> H$s{OE …

(a) _w»` XñVmdoO Am¡a {db{`V XñVmdoO

(b) noO~«oH$ S>mbZm Ed§ noO ~«oH$ hQ>mZm

6. Answer the following questions : [5 × 2 = 10]

(a) How can you Rename a file or folder using My Document? Write steps.

(b) How can you change a password? Write steps.

(c) Write the steps for locating a file.

(d) Write the steps for protecting your document for track changes.

(e) Explain how a worksheet is protected using password.

{ZåZ àíZm| Ho$ CÎma Xr{OE …

(a) _mB© S>m°Š ỳ_|Q²>g H$m à`moJ H$aHo$ Amn {H$gr \$mBb `m \$moëS>a H$m Zm_ ~XbZo Ho$ MaU {bIo &

(b) nmgdS>© H$mo ~XbZo Ho$ MaU {b{IE &

(c) {H$gr \$mBb H$mo ImoOZo Ho$ MaU {b{IE &

(d) Q´>¡H$ M|Oog Ho$ {bE AnZo S>m°Š ỳ_|Q> H$s gwajm H$aZo Ho$ MaU {b{IE &

(e) nmgdS>© H$m à`moJ H$aHo$ H$m ©̀nÌH$ H$mo H¡$go gwa{jV aIm Om gH$Vm h¡ & dU©Z H$a| &

[ Contd......
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7. Answer the following : [2 × 2 = 4]

(a) Write the actions associated with the following shortcut keys;

(i) CTRL+B

(ii) CTRL+F

(iii) F7

(iv) CTRL+Backspace

(b) (i) Write the steps to select entire paragraph of text at a time.

(ii) How can you delete an entire paragraph of text in just two steps?

{ZåZ Ho$ CÎma Xr{OE …

(a) {ZåZ Aën_mJ© Hw§$Or`mo Ho$ gmW g§~§{YV H$m`m] H$mo {bIo …

(i) CTRL+B

(ii) CTRL+F

(iii) F7

(iv) CTRL+Backspace

(b) (i) EH$ hr ~ma _| EH$ nyao Q>oŠñQ> n¡amJ«m\$ H$mo MwZZo Ho$ {b ò H$X_/MaU {bI| &

(ii) Amn nmR> Ho$ nyao n¡amJ«m\$ H$mo Ho$db Xmo MaUmo _| H¡$go hQ>m gH$Vo h¡?

8. Answer the following : [2 × 2 = 4]

(a) Following data shows the sale percentage of an electronic show room in the
first quarter of the year. Write the steps to plot a pie chart based on this data
and give the chart title as "First Quarter Sales".

A B

1. Name of the Item First Quarter Sales
(percentage)

2. LED TV 20

3. Washing Machine 25

4. Splict AC 15

5. Microwave 30

6. Refrigerator 10

[ Contd......
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(b) Following data shows computer accessories required in a corporate office
per month. Based on this data write the appropriate formula to calculate the
following :

A B C D E

1. Product Unit cost No. of Total Average
pieces cost cost

2. Keyboard 2,500 3

3. Mouse 3,000 4

4. CPU 7,000 2

5. Cables 3,000 5

6. Monitor 5,000 3

(i) Total cost of all CPUs in cell D4

(ii) Total cost of all Mouse and Cables purchased in the cell D5.

(iii) Average unit cost of each product in cell E6.

(iv) Total cost of all items purchased for the office in the cell D7.

{ZåZ H$m CÎma Xr{OE …

(a) {ZåZ S>mQ>m EH$ BboŠQ́>m°{ZH$ emoê$_ Ho$ df© H$s àW_ {V_mhr _| hþB© {~H«$s H$m S>mQ>m {XImVm h¡ & BgHo$ AmYma
na EH$ nmB© MmQ>© ßbm°Q> H$aZo Ho$ ñQ>on {bI| & MmQ>© H$m erf©H$ ""\$ñQ>© ŠdmQ>©a goëg'' hmoZr Mm{hE &

A B

1. AmBQ>_ H$m Zm_ àW_ {V_mhr H$s {~H«$s
(à{VeV)

2. Eb B© S>r Q>r dr 20

3. dm°qeJ _erZ 25

4. pñßbQ> E gr 15

5. _mBH«$modod 30

6. {\«$O 10

[ Contd......
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(b) {ZåZ S>mQ>m EH$ H$m°nm}aoQ> Am°{\$g _| à{V_mh IarXr OmZo dmbr H$åß ỳQ>a EoŠgogarO H$m S>mQ>m {XImVm h¡ &
BgHo$ AmYma na {ZåZ H$s JUZm H$aZo Ho$ {bE C{MV \$m°_©ybm {b{IE &

A B C D E

1. àmoS>ŠQ> ỳ{ZQ> H$s_V Hw$b nrg Hw$b H$s_V Am¡gV H$s_V

2. H$s ~moS>© 2,500 3

3. _mCg 3,000 4

4. grnr ỳ 7,000 2

5. Ho$~ëg 3,000 5

6. _m°ZrQ>a 5,000 3

(i) g¡b D4 _| g^r grnr ỳ H$s Hw$b H$s_V

(ii) g¡b D5 _| g^r _mCg Am¡a Ho$~ëg H$s Hw$b H$s_V

(iii) g¡b E6 _| g^r àmoS>ŠQ> H$s Am¡gV ỳ{ZQ> H$s_V

(iv) g¡b D7 _| Am°{\$g Ho$ {bE IarXo JE g^r àmoS>ŠQ> H$s Hw$b H$s_V


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This Question Paper consists of 8 questions and 8 Printed pages.

63/OS/1

General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. All the questions are to be answered within the allotted time.

4. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

5. Write your Question Paper Code No. 63 / OS / 1, Set -B on the Answer-Book.

6. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.

Day and Date of Examination

Signature of Invigilators
(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)

({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)
1.

2.

Sl. No.

Set / goQ> B

Code No.
H$moS> Z§.H$m oS> Z§.H$m oS> Z§.H$m oS> Z§.H$m oS> Z§.
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gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe :

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI| &

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go D$na N>nr h¡ & Bg
~mV  H$s Om±M ̂ r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢ &

3. g^r àíZm| Ho$ CÎma {ZYm©[aV Ad{Y Ho$ ̂ rVa hr XoZo h¢ &

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$‘m§H$ {bIZo na narjmWu H$mo A¶mo½¶
R>ham¶m Om¶oJm &

5. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$s H$moS> g§»¶m 63 / OS / 1, Set - B  {bI| &

6. (H$) àíZ-nÌ Ho$db qhXr/A§J«oOr ‘| h¡& {’$a ̂ r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$EH$EH$EH$EH$ ̂ mfm ‘| CÎma Xo gH$Vo h¢ :

A§J«oOr, qhXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$ÝZ‹S>, VobwJw, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur, ‘{Unwar, Ag{‘¶m,
Zonmbr, H$í‘rar, g§ñH¥$V Am¡a qgYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ̂ mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn qhXr Ed§ A§J«oOr Ho$ A{V[a³V {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢ Vmo àíZ H$mo g‘PZo ‘| hmoZo dmbr Ìw{Q>¶m|/Jb{V¶m|
H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

[ Contd......
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DATA ENTRY OPERATIONS
S>mQ>m E§Q´>r Am°naoeÝg

(229)

Time : 2 Hours] [Maximum Marks : 40

g_` : 2 KÊQ>o]  [nyUmªH$ : 40

Note : (i) All questions are compulsory.

(ii) Marks are indicated against each question.

{ZX}e {ZX}e {ZX}e {ZX}e {ZX}e : (i) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢ &

(ii) àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo Xem©E JE h¢ &

[ Contd......

1. Match the following and write your answer in the answer book : [6 × ½ = 3]

A B

(a) Syntax (i) Hardware component

(b) Antivirus (ii) Machine language

(c) Slide show view (iii) Utility program

(d) Video Card (iv) Requires criteria

(e) Object program (v) Delivering the presentation

(f) COUNTIF( ) Function (vi) Language Rules

{ZåZ Omo‹S>o {_bmBE Am¡a CÎma AnZr CÎma nwpñVH$m _| {b{IE …

A B

(a) qgQ>¡Šg (i) hmS>©dò a KQ>H$

(b) E§Q>rdm`ag (ii) _erZ ^mfm

(c) ñbmBS> emo ì ỳ (iii) ỳ{Q>{bQ>r àmoJ«m_

(d) dr{S>`mo H$mS>© (iv) eV© H$s Amdí`H$Vm

(e) Am°ãOoŠQ> àmoJ«m_ (v) àoOoÝQ>oeZ {XImZm

(f) H$mCÝQ> Bµ\$( ) \§$ŠeZ (vi) ^mfm Ho$ {Z`_
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2. Write in your answer book, True/False for the following statements :[6 × ½ = 3]

(a) Format Autoshape dialog box helps to change colours and background of
a textbox in slides.

(b) A compiler translates a low level language program to high level language.

(c) Laser printer produces very low quality print and these are very slow in
working.

(d) A password can include only 2 characters and one symbol.

(e) All programs displays a list of installed programs which a user an start and
use.

(f) The expanded form of PDF is portable Document format.

{ZåZ H$WZm| Ho$ {bE AnZr CÎma nwpñVH$m _| ghr/JbV {b{IE …

(a) ñbmBS>mo _| Q>oŠñQ> ~m°Šg H$m a§J Ed§ n¥ð> ŷ{_ ~XbZo _| \$m°_}Q> Am°Q>moeon S>m`bm°J ~m°Šg _XX H$aVo h¡ &

(b) EH$ H§$nmBba {ZåZ ñVa H$s ^mfm H$m CÀM ñVa H$s ^mfm _| AZwdmX H$aVm h¡ &

(c) boOa qàQ>a ~hþV {ZåZ JwUdÎmm H$m _wÐU {ZH$mbVo h¢ Am¡a ò H$m_ H$aZo _| ~hþV Yr_| h¢ &

(d) EH$ nmgdS>© _| Ho$db 2 Aja Am¡a 1 àVrH$ {MÝh hr em{_b hmo gH$Vm h¡ &

(e) Am°b àmoJ«måg (All programs) g^r BÝñQ>m°b {H$E JE àmoJ«m_m| H$s gyMr àX{e©V H$aVm h¡ {OÝh| ỳOa
ñQ>mQ>© Am¡a à`moJ H$a gH$Vm h¡ &

(f) nr S>r E\$ (PDF) H$m nyU© ñdén h¡ nmoQ>}~b S>m°Š ỳ_|Q> \$m°_}Q> &

3. Define the following : [4 × 1 = 4]

(a) Central Processing Unit

(b) View file Details

(c) Memory Unit

(d) Pivot Table in Excel

{ZåZ H$mo n[a^m{fV H$s{OE …

(a) g|Q´>b àmogoqgJ ỳ{ZQ/H|$Ðr` àH«$_Z EH$H$

(b) ì ỳ \$mBb {ddaU

(c) _o_moar ỳ{ZQ>

(d) EŠgob _| H$sbH$ Vm{bH$m

[ Contd......
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4. Write short notes on the following : [4 × 2 = 8]
(a) Computer languages

(b) Headers and Footers

(c) Page Breaks

(d) Rename a worksheet

{ZåZ na g§{já {Q>ßn{U`m± {b{IE …

(a) H$åß ỳQ>a H$s ^mfmE±

(b) erf© Am¡a nmXboI

(c) noO ~«oH$

(d) {H$gr H$m ©̀nÌH$ H$m Zm_ ~XbZm

5. Differentiate between the following : [2 × 2 = 4]
(a) Inserting page break and Deleting page break.

(b) Main Document and Merge Document

{ZåZ Ho$ ~rM A§Va ñnï> H$s{OE …

(a) noO~«oH$ S>mbZm Ed§ noO ~«oH$ hQ>mZm

(b) _w»` XñVmdoO Am¡a {db{`V XñVmdoO

6. Answer the following questions : [5 × 2 = 10]

(a) How can you Rename a file or folder using My Document? Write steps.

(b) Explain the purpose of vertical & horizontal scroll bars.

(c) Explain how a worksheet is protected using password.

(d) Write the steps to create a Data source using Word Table.

(e) Write the steps for locating a file.

{ZåZ àíZm| Ho$ CÎma Xr{OE …

(a) _mB© S>m°Š ỳ_|Q²>g H$m à`moJ H$aHo$ Amn {H$gr \$mBb `m \$moëS>a H$m Zm_ ~XbZo Ho$ MaU {bIo &

(b) bå~dV Am¡a j¡{VO ñH«$m°b ~ma H$m CÔoí` dU©Z H$s{OE &

(c) nmgdS>© H$m à`moJ H$aHo$ H$m ©̀nÌH$ H$mo H¡$go gwa{jV aIm Om gH$Vm h¡ & dU©Z H$a| &

(d) dS>© Vm{bH$m H$m à`moJ H$aHo$ S>mQ>m gmog© ~ZmZo Ho$ ñQ>on {b{IE &

(e) {H$gr \$mBb H$mo ImoOZo Ho$ MaU {b{IE &

[ Contd......
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7. Answer the following : [2 × 2 = 4]
(a) Write the actions associated with the following shortcut keys;

(i) CTRL+B

(ii) CTRL+F

(iii) F7

(iv) CTRL+Backspace

(b) (i) Write the steps to select entire paragraph of text at a time.

(ii) How can you delete an entire paragraph of text in just two steps?

{ZåZ Ho$ CÎma Xr{OE …

(a) {ZåZ Aën_mJ© Hw§$Or`mo Ho$ gmW g§~§{YV H$m`m] H$mo {bIo …
(i) CTRL+B

(ii) CTRL+F

(iii) F7

(iv) CTRL+Backspace

(b) (i) EH$ hr ~ma _| EH$ nyao Q>oŠñQ> n¡amJ«m\$ H$mo MwZZo Ho$ {b ò H$X_/MaU {bI| &

(ii) Amn nmR> Ho$ nyao n¡amJ«m\$ H$mo Ho$db Xmo MaUmo _| H¡$go hQ>m gH$Vo h¡?

8. Answer the following : [2 × 2 = 4]

(a) Following data shows computer accessories required in a corporate office
per month. Based on this data write the appropriate formula to calculate the
following :

A B C D E

1. Product Unit cost No. of Total Average
pieces cost cost

2. Keyboard 2,500 3

3. Mouse 3,000 4

4. CPU 7,000 2

5. Cables 3,000 5

6. Monitor 5,000 3

[ Contd......
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(i) Total cost of all CPUs in cell D4

(ii) Total cost of all Mouse and Cables purchased in the cell D5.

(iii) Average unit cost of each product in cell E6.

(iv) Total cost of all items purchased for the office in the cell D7.

(b) Write the steps to plot a pie chart for the following data.

S.No. Name of item Quantity in numbers

1. History Books 3,000

2. Economics Books 6,000

3. Computer programming 15,000

4. News papers 700

5. Magazines 300

6. Other periodicals 500

{ZåZ H$m CÎma Xr{OE …

(a) {ZåZ S>mQ>m EH$ H$m°nm}aoQ> Am°{\$g _| à{V_mh IarXr OmZo dmbr H$åß ỳQ>a EoŠgogarO H$m S>mQ>m {XImVm h¡ &
BgHo$ AmYma na {ZåZ H$s JUZm H$aZo Ho$ {bE C{MV \$m°_©ybm {b{IE &

A B C D E

1. àmoS>ŠQ> ỳ{ZQ> H$s_V Hw$b nrg Hw$b H$s_V Am¡gV H$s_V

2. H$s ~moS>© 2,500 3

3. _mCg 3,000 4

4. grnr ỳ 7,000 2

5. Ho$~ëg 3,000 5

6. _m°ZrQ>a 5,000 3

[ Contd......
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(i) g¡b D4 _| g^r grnr ỳ H$s Hw$b H$s_V

(ii) g¡b D5 _| g^r _mCg Am¡a Ho$~ëg H$s Hw$b H$s_V

(iii) g¡b E6 _| g^r àmoS>ŠQ> H$s Am¡gV ỳ{ZQ> H$s_V

(iv) g¡b D7 _| Am°{\$g Ho$ {bE IarXo JE g^r àmoS>ŠQ> H$s Hw$b H$s_V

(b) {ZåZ{b{IV S>oQ>m Ho$ {b ò EH$ nmB© MmQ>© V¡̀ ma H$aZo Ho$ MaUmo H$m CëboI H$s{O ò &

H«$_ g§»`m Zm_ g§»`m

1. B{Vhmg H$s {H$Vm~o 3,000

2. AW©emó H$s {H$Vm~o 6,000

3. H§$ß ỳQ>a àmoJ«mq_J 15,000

4. g_mMma nÌmo H$s g§»`m 700

5. n{ÌH$m`o 300

6. AÝ` n{ÌH$m ò 500


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S>mQ>m E§Q´>r Am°naoeÝg
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AZwH«$_m §H$AZwH«$_m §H$AZwH«$_m §H$AZwH«$_m §H$AZwH«$_m §H$

Bg àíZ-nÌ _| 8 àíZ VWm 8 ‘w{ÐV n¥ð> h¢&
This Question Paper consists of 8 questions and 8 Printed pages.

63/OS/1

General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. All the questions are to be answered within the allotted time.

4. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

5. Write your Question Paper Code No. 63 / OS / 1, Set -C on the Answer-Book.

6. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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Signature of Invigilators
(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)(narjm H$m {XZ d {XZm§H$)

({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)({ZarjH$m | Ho$ hñVmja)
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2.

Sl. No.

Set / goQ> C

Code No.
H$moS> Z§.H$m oS> Z§.H$m oS> Z§.H$m oS> Z§.H$m oS> Z§.
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gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe gm_mÝ` AZwXoe :

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI| &

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go D$na N>nr h¡ & Bg
~mV  H$s Om±M ̂ r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢ &

3. g^r àíZm| Ho$ CÎma {ZYm©[aV Ad{Y Ho$ ̂ rVa hr XoZo h¢ &

4. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ^r AZwH«$‘m§H$ {bIZo na narjmWu H$mo A¶mo½¶
R>ham¶m Om¶oJm &

5. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$s H$moS> g§»¶m 63 / OS / 1, Set - C  {bI| &

6. (H$) àíZ-nÌ Ho$db qhXr/A§J«oOr ‘| h¡& {’$a ̂ r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$EH$EH$EH$EH$ ̂ mfm ‘| CÎma Xo gH$Vo h¢ :

A§J«oOr, qhXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$ÝZ‹S>, VobwJw, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur, ‘{Unwar, Ag{‘¶m,
Zonmbr, H$í‘rar, g§ñH¥$V Am¡a qgYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ̂ mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn qhXr Ed§ A§J«oOr Ho$ A{V[a³V {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢ Vmo àíZ H$mo g‘PZo ‘| hmoZo dmbr Ìw{Q>¶m|/Jb{V¶m|
H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

[ Contd......
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DATA ENTRY OPERATIONS
S>mQ>m E§Q´>r Am°naoeÝg

(229)

Time : 2 Hours] [Maximum Marks : 40

g_` : 2 KÊQ>o]  [nyUmªH$ : 40

Note : (i) All questions are compulsory.

(ii) Marks are indicated against each question.

{ZX}e {ZX}e {ZX}e {ZX}e {ZX}e : (i) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢ &

(ii) àË òH$ àíZ Ho$ A§H$ CgHo$ gm_Zo Xem©E JE h¢ &

[ Contd......

1. Match the following and write your answer in the answer book : [6 × ½ = 3]

A B

(a) Slide show view (i) Requires criteria

(b) Video card (ii) Machine language

(c) All caps (iii) Control+Shift+W

(d) Object program (iv) Delivering the presentation

(e) Word underline (v) Hardware component

(f) IF( ) Function (vi) Control+Shift+A

{ZåZ Omo‹S>o {_bmBE Am¡a CÎma AnZr CÎmanwpñVH$m _| {b{IE …

A B

(a) ñbmBS> emo ì ỳ (i) eV© H$s Amdí`H$Vm

(b) dr{S>`mo H$mS>© (ii) _erZ ^mfm

(c) Am°b H¡$ßg (iii) Control+Shift+W

(d) Am°ãOoŠQ> àmoJ«m_ (iv) àoOoÝQ>oeZ {XImZm

(e) dS>© A§S>abmB©Z (v) hmS>©dò a KQ>H$

(f) Bµ\$( ) \§$ŠeZ (vi) Control+Shift+A
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2. Write in your answer book, True/False for the following statements :[6 × ½ = 3]

(a) Format Autoshape dialog box helps to change colours and background of
a textbox in slides.

(b) The expanded form of PDF is portable Document format.

(c) Laser printer produces very low quality print and these are very slow in
working.

(d) All programs displays a list of installed programs which a user an start and
use.

(e) Taskbar displays a list of music and songs.

(f) A password can include only 2 characters and one symbol.

{ZåZ H$WZm| Ho$ {bE AnZr CÎma nwpñVH$m _| ghr/JbV {b{IE …

(a) ñbmBS>mo _| Q>oŠñQ> ~m°Šg H$m a§J Ed§ n¥ð> ŷ{_ ~XbZo _| \$m°_}Q> Am°Q>moeon S>m`bm°J ~m°Šg _XX H$aVo h¡ &

(b) nr S>r E\$ (PDF) H$m nyU© ñdén h¡ nmoQ>}~b S>m°Š ỳ_|Q> \$m°_}Q> &

(c) boOa qàQ>a ~hþV {ZåZ JwUdÎmm H$m _wÐU {ZH$mbVo h¢ Am¡a ò H$m_ H$aZo _| ~hþV Yr_| h¢ &

(d) Am°b àmoJ«måg (All programs) g^r BÝñQ>m°b {H$E JE àmoJ«m_m| H$s gyMr àX{e©V H$aVm h¡ {OÝh| ỳOa
ñQ>mQ>© Am¡a à`moJ H$a gH$Vm h¡ &

(e) Q>mñH$~ma _| g§JrV Ed§ JrVm| H$s gyMr àX{e©V hmoVr h¡ &

(f) EH$ nmgdS>© _| Ho$db 2 Aja Am¡a 1 àVrH$ {MÝh hr em{_b hmo gH$Vm h¡ &

3. Define the following : [4 × 1 = 4]

(a) Central Processing Unit

(b) View file Details

(c) Control Unit

(d) Copying a formula

{ZåZ H$mo n[a^m{fV H$s{OE …

(a) g|Q´>b àmogoqgJ ỳ{ZQ>/H|$Ðr` àH«$_Z EH$H$

(b) ì ỳ \$mBb {ddaU

(c) H§$Q´>mob ỳ{ZQ>

(d) \$m°_©ybm H$m°nr H$aZm

[ Contd......
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4. Write short notes on the following : [4 × 2 = 8]
(a) Spell check feature

(b) Compiler and Assembler

(c) Headers and Footers

(d) Cell Reference

{ZåZ na g§{já {Q>ßn{U`m± {b{IE …

(a) ñnob M¡H$ µ\$sMa / dV©Zr Om±M gw{dYm

(b) H$ånmBba Ed§ Egoå~ba

(c) erf© Am¡a nmXboI

(d) g¡b ao\$a|g

5. Differentiate between the following : [2 × 2 = 4]
(a) Inserting page break and Deleting page break.

(b) Main Document and Merge Document

{ZåZ Ho$ ~rM A§Va ñnï> H$s{OE …

(a) noO~«oH$ S>mbZm Ed§ noO ~«oH$ hQ>mZm

(b) _w»` XñVmdoO Am¡a {db{`V XñVmdoO

6. Answer the following questions : [5 × 2 = 10]

(a) Write the steps for locating a file.

(b) Write the importance of font face and font size.

(c) Explain how a worksheet is protected using password.

(d) Explain the various options available under the print dialogbox.

(e) How can you Rename a file or folder using My Document? Write steps.

{ZåZ àíZm| Ho$ CÎma Xr{OE …

(a) {H$gr \$mBb H$mo ImoOZo Ho$ MaU {b{IE &

(b) \$m±Q>\o$g Am¡a \$m±Q> AmH$ma H$m _hËd dU©Z H$s{OE &

(c) nmgdS>© H$m à`moJ H$aHo$ H$m ©̀nÌH$ H$mo H¡$go gwa{jV aIm Om gH$Vm h¡ & dU©Z H$a| &

(d) qàQ> S>m`bm°J ~m°Šg Ho$ A§VJ©V AmZo dmbo {dH$ënm| H$m dU©Z H$s{OE &

(e) _mB© S>m°Š ỳ_|Q²>g H$m à`moJ H$aHo$ Amn {H$gr \$mBb `m \$moëS>a H$m Zm_ ~XbZo Ho$ MaU {bIo &

[ Contd......
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7. Answer the following : [2 × 2 = 4]
(a) Write the actions associated with the following shortcut keys;

(i) CTRL+B
(ii) CTRL+F
(iii) F7
(iv) CTRL+Backspace

(b) (i) Write the steps to select entire paragraph of text at a time.
(ii) How can you delete an entire paragraph of text in just two steps?

{ZåZ Ho$ CÎma Xr{OE …
(a) {ZåZ Aën_mJ© Hw§$Or`mo Ho$ gmW g§~§{YV H$m`m] H$mo {bIo …

(i) CTRL+B
(ii) CTRL+F
(iii) F7
(iv) CTRL+Backspace

(b) (i) EH$ hr ~ma _| EH$ nyao Q>oŠñQ> n¡amJ«m\$ H$mo MwZZo Ho$ {b ò H$X_/MaU {bI| &
(ii) Amn nmR> Ho$ nyao n¡amJ«m\$ H$mo Ho$db Xmo MaUmo _| H¡$go hQ>m gH$Vo h¡?

8. Answer the following : [2 × 2 = 4]

(a) Following data shows computer accessories required in a corporate office
per month. Based on this data write the appropriate formula to calculate the
following :

A B C D E

1. Product Unit cost No. of Total Average
pieces cost cost

2. Keyboard 2,500 3

3. Mouse 3,000 4

4. CPU 7,000 2

5. Cables 3,000 5

6. Monitor 5,000 3

[ Contd......
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(i) Total cost of all CPUs in cell D4

(ii) Total cost of all Mouse and Cables purchased in the cell D5.

(iii) Average unit cost of each product in cell E6.

(iv) Total cost of all items purchased for the office in the cell D7.

(b) Following data shows the sale percentage of an electronic show room in the
first quarter of the year. Write the steps to plot a pie chart based on this data
and give the chart title as "First Quarter Sales".

A B

1. Name of the Item First Quarter Sales
(percentage)

2. LED TV 20

3. Washing Machine 25

4. Splict AC 15

5. Microwave 30

6. Refrigerator 10

{ZåZ H$m CÎma Xr{OE …

(a) {ZåZ S>mQ>m EH$ H$m°nm}aoQ> Am°{\$g _| à{V_mh IarXr OmZo dmbr H$åß ỳQ>a EoŠgogarO H$m S>mQ>m {XImVm h¡ &
BgHo$ AmYma na {ZåZ H$s JUZm H$aZo Ho$ {bE C{MV \$m°_©ybm {b{IE &

A B C D E

1. àmoS>ŠQ> ỳ{ZQ> H$s_V Hw$b nrg Hw$b H$s_V Am¡gV H$s_V

2. H$s ~moS>© 2,500 3

3. _mCg 3,000 4

4. grnr ỳ 7,000 2

5. Ho$~ëg 3,000 5

6. _m°ZrQ>a 5,000 3

[ Contd......
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(i) g¡b D4 _| g^r grnr ỳ H$s Hw$b H$s_V

(ii) g¡b D5 _| g^r _mCg Am¡a Ho$~ëg H$s Hw$b H$s_V

(iii) g¡b E6 _| g^r àmoS>ŠQ> H$s Am¡gV ỳ{ZQ> H$s_V

(iv) g¡b D7 _| Am°{\$g Ho$ {bE IarXo JE g^r àmoS>ŠQ> H$s Hw$b H$s_V

(b) {ZåZ S>mQ>m EH$ BboŠQ́>m°{ZH$ emoê$_ Ho$ df© H$s àW_ {V_mhr _| hþB© {~H«$s H$m S>mQ>m {XImVm h¡ & BgHo$ AmYma
na EH$ nmB© MmQ>© ßbm°Q> H$aZo Ho$ ñQ>on {bI| & MmQ>© H$m erf©H$ ""\$ñQ>© ŠdmQ>©a goëg'' hmoZr Mm{hE &

A B

1. AmBQ>_ H$m Zm_ àW_ {V_mhr H$s {~H«$s
(à{VeV)

2. Eb B© S>r Q>r dr 20

3. dm°qeJ _erZ 25

4. pñßbQ> E gr 15

5. _mBH«$modod 30

6. {\«$O 10


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